jOLUTlOUS /‘}

/

"MATH 308 — FINAL EXAM 3

1. (10 points) Solve the following equation and write your answer

in explicit form

{t4y' + 3t3y =t cos(t)
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MATH 308 — FINAL EXAM

2. (10 points) Solve the following and write your answer in explicit

form. y
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MATH 308 — FINAL EXAM 5

3. (10 points) Use variation of parameters to solve
"+qy'+ay=¢7°
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MATH 308 — FINAL EXAM

4. (10 points) Use Laplace transforms to solve

y//+4y:3f(t) 0 ifo0<t<l1
y(0) =0 where f(t) = {sin(t —1)ift >—1
y'(0) =0 i
JTEP) LAPLaCE TNneNcFonn

LIyl ra Xy = VR

" _ —Jvlo —‘f’b) :fza\(fs\7>
Zly") =L =2y )

0 - - 3Je
3LYPY = 32t Da ()

- le °Z$H'\)U:)S -

5
3e™"
2 b -
SUZhy + 4Ty v
3 -
LY T e
! (4D (sH+4)
@} pANTIAL FracTione
J
- pore v Ciob = (ARSI (ENGY)
SE— i B S ) : .
(Sz‘#-IB(S&“*) 524“'( /7‘(44’({ (‘344—2)(1 +L\‘>

b

y=‘ (fl)J(E‘l) — 2’\ on( 2(&—)))) Ui(l*)

Ast+ YAs # Bt 14 FCsTH (e 1t HD
( PREMTER 4J>" ~ Work on Scratch Paper

. o (GArC)s FGBID) 3
- (AJrC_);*)LEib)ﬂ/,(_m T (s? Hﬂ)ﬁz“,\

o (¢491) (s3+4)

—




/q"'C:O C:—A y
= lsr’DfO = b:~\$ - 3
LVH‘C:@ 4p-A=0 = A=o o -A=0
4prbH=3 gp-t=1= =| b=-§=-1
> 3 )
(SQI)(;HQ) (2 (24

(SN
=
o
@
&
<
\!

<l o e-s
Fary 2y

N

= OZ\ iN(E) — ng(zt)$ e

4

_ L | (W(t—')-;ﬂw (z(e-)))] Vb))

\{—’- < SN({-)>—* ..2L K\N(z(t‘)») Uiu)



MATH 308 — FINAL EXAM
5. (10 points) Find a series solution of

¥" + (2z) ¥ + 2y =0
y(0)=4§ |
y'(0)=0

Note: Write your final answer in explicit form, without series
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8 MATH 308 — FINAL EXAM

6. (10 points) Solve x' = Ax with x(0) = [g] where
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7. (10 points) Use undetermined coefficients to find a particular

solution to x' = Ax + f where
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